

30] write the equation of the tangent line:-

$$f(x) = \frac{x^3}{3} - \frac{3}{x^3} \quad \text{at } x = -1$$

$$\rightarrow f(x) = \frac{x^3}{3} - 3x^{-3}$$

نجد (slope) m
 $= f'(x) \rightarrow -10$

$$f'(x) = \frac{3x^2}{3} - 3(-3)x^{-4}$$
$$= x^2 + \frac{9}{x^4}$$

نقوم بوضع
 $x = -1$ في المعادلة

$$m = (-1)^2 + \frac{9}{(-1)^4} = 1 + 9 = 10$$

\therefore slope = 10 , $x = -1$

$y =$ القيمة المقابلة لـ x في المعادلة

$$\therefore y = \frac{(-1)^3}{3} - \frac{3}{(-1)^3} = \frac{-1}{3} - \frac{3}{-1}$$
$$= \frac{-1}{3} + \frac{3}{1} = \frac{8}{3}$$

the equation of the tangent:- $(-1, \frac{8}{3})$

$$y - y_0 = m(x - x_0)$$

$$y - \frac{8}{3} = 10(x - \frac{8}{3})$$

$$\rightarrow y - \frac{8}{3} = 10x - \frac{80}{3}$$

$+\frac{8}{3}$ $+\frac{80}{3}$

$$\therefore y = 10x - \frac{72}{3} = 10x - 24$$